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Factored form I

•B 13.5,-6.25)IÉÑ¥61×-171×-6)
y-int_→ plvgzeroilnto standard form

4=(012-710)+6 → 4=6

X-int3_→ set factored form __ too .
rertexm→ either formworks0=1×-171×-6)

✗-1=0 ✗-6=0
general
#

factored
✗=\ 11=6

✗=¥A=-4¥ --3.5 F- 1+26--3.5

4=(3.55-713.5)+6 4=(3.5-1313.5-6)

4=-6.25 4=-6.25)
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(X -5)(✗-12)
z z y-int_→ plug zero into standard form

(2×-571×-11) 4=2105-310)-5=-5

X-int3_→ set factored form -_ too
0=(2×-531×+1) rertex_→ either formworks

2×-5=0 ✗-11=0

✗22.5 ✗=-1 general
#

factored

✗=¥a= -4¥, --0.7s
✗=2•5t = 0.75

4=210.757-310.751--5 4=(210.7-5) -5)[0.75+1]

4=-6,125 4=-6.125
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factoredformm I

910,-9)4×2-9 differenceof squares
(2×7-1332 y-intm-plugze.ro into standardform
(2×-3×2×+3) 4--41032-9-74=-9

X-int3_→ set factored form __ too

0=(2×-3312×+3) rectum→ either formwork
2×-3=0 2×-13=0

11=1.5 ✗=-1.5 general factored

☒=¥a=;¥,-0×1.5+1--1.5=0
4--4105-9=-9 4=[2103-3][2107+3]=-9
* sinuvvtexissameas.int, need
to use strategic points . . .
let ✗=/ → y=4(1)2-a= -s
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4--21×+172 I

c-4,0) I
10,3 ) fzp)••1•µp)(-1,0) I

✗ = -1 I

1-1.510.75)•••i•• (-0.510.7-5)factoredform_ •☒

11-1,0)
3×2+6×+3 I

31×42×-1-1) I
21×+171×-11) I
21×+172 Y-int-→ plvgzerointo standard form

4=31012+6101-13--3

X-int3_→ set factored form -_ too

0=21×-1172 since only one X- int, need
✗+1=0

to use standard form for vertex
✗= -1 ✗= -2¥,= -1

4=31-15+61-1) -13=0
only 3 points soneed another

(-0.5/0.75)strategicpoint !
✗= -0.54=31-0.53461-0.5) -13=0.75


